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Address Presently Read Change To
Pg 136, Figure 6.1 |1
B 136, Flg xl—[ 4 =[]
Pg 140, at the middle -1 -1]0 -1 -1]0
of page 0 1 00 0O 0 o]0
0 0 010 0 0 0 10
Pg 142, second P~ 1AP =B < AP = BP P 'AP =B < AP = PB
remark
Pg 143, last line diagonal entries in P diagonal entries in D
Pg 145, last line A,=0 =1
Pg 147, diagonal -1 0 0 -1 0 0
matrix D 0 _2 0 0 -2 0
1 . 0o 0 2 .
Pg 153, at the end of —i -1 1] _
[ I_J[J B MR
Pg 153, at the end of —i |0] [ i |0] —-i 1 |0] B [1 i |0]
-1 1-i 0 o0lo -1 —ilo 0 010

Pg 157, Definition 7.1

Let u and v be two vectors in, where...

Let u and v be two vectors in R,
where...

Pg 159, Example 7.12 1317 [3]
-1 -1

u=|o0 v=|0

1 1

-1 -1

Pg 164, Example 7.20

111
Vg = —
tvaz|1

-1

111
Vy=—
vz 1

-3

Pg 166, last line

rw.v = (rw).(rv)

Pg 167, Example 7.29

Pg 175, Exercise Set
7.3, question 1, part b

-
{ }

rw.v = (rw).(rw)
2
H
1

-1
-1
2

Appendix B

Pg 203, B.6.1, Exercise. A, —81+16=0 A2—-81+16=0
6
Pg 203, B.6.1, Exercise. | A3 — 642+ 111=0 A2 -622+111-6=0
12
Pg 204, B.6.1, Exercise. -1 1
19 X,=10 x2=(1

1 -2
Pg 205, B.6.4, Exercise. _[5 © _[5 O
: P=[p p=[g 5
Pg 206, B.6.4, Exercise. 5... 5. yes,
5
Pg 206, B.7.1, Exercise. 21 23
2
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Pg 206, B.7.1, Exercise.  [_1 | 1]

21 V11 V11
3 3
Vi1 Vil

0 1

-1 Vil
Newd

Pg 206, B.7.1, Exercise. 55 53

26

Pg 206, B.7.1, Exercise. 6 V20

Pg 206, B.7.1, Exercise.
36

Is orthogonal

Is not orthogonal

Pg 207, B.7.2, Exercise.
2

vy V2 v3

B_{x/ﬁ ’29’ :wm}

B—{ vy vz V3 }
“V30°’v29’ V870

Pg 207, B.7.2, Exercise.
3

V1
B={? , V2, 173}

V1
B={—,v ,v}
vz’ U2 s

Pg 207, B.7.2, Exercise.
12

—101[%4

152 18

v

Pg 207, B.7.2, Exercise.
13

Only E is orthogonal

A and B are not orthogonal

Pg 207, B.7.2, Exercise. | 0 = 60° 0 = (61.87)°
19
Pg 207, B.7.3, Exercise. Part b has to be deleted
1
: 2 1 2 1
Pg 207, B.7.3, Exercise. [_] [_] [ 0] [_] [_] [ 0]
2, parta 16 13 | 5 | 16 13 [ 5 |
28| 1|+ 23| L |4 | 2] 26| L]+ 2v3| L |+ sva| |
V6| |v3| |Vi8| V6| [V3| |Vi8|
2 A e
V6 V3 18 V6 V3 V18
Pg 207, B.7.3, Exercise. (1713 1973
3 p = |10 |Va5 p=/|Vio| |vio
RS R =Y
V10 L/a5 lv/10] LyV10
Pg 207, B.7.3, Exercise. 4] (4 =L
a _J|v17| -1 |17 V17
ool Pl
/17 V171 Ly/17]
Pg 207, B.7.3, Exercise. 1 i] [ —7 ] 1 i] [__1]
6 —| [V6| |v219 —| |V6||V3
oo 2|2 ]| 1 oo 2|2 ]| L
B N EE
a 12 2 bl 1212
I et R vzl | = |—=
[\/_ WA INT vz Vel 13
Pg 208, B.8, Exercise. 8, | 3 2-3i
partb 10




